(*Zadatak 1)
DSolve [ (y[x])~2+ (y'[x])"2 =1, y[x], x]
{{y[x] »-Sin[x-C[1]]}, {y[x] »Sin[x+C[1]]}}

(xZadatak 2x)
DSolve[y[x] #y'[x] - (y'[x])"2 =X, y[x], X]

K$6016 ArcSin [K$6016 K$6016 C[1
Solve|{x = - # LK# 1 + . [1] , Y[X] = K$6016 +

X
1 - K$60162 1 - K$60162 K$6016

}s {y[x], K$6016} |

(xZadatak 3=x)
DSolve[y[x] = x* (y'[x]) "2+ (y'[x])"2, y[x], ]

Hyrx) - 1 (4+4x—4\/1+x Cl1] +C[1]2)}, {yix] L1 (4+4x+4\/1+x Cl1] +C[1]2)}}
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(xZadatak 4x)
sol = DSolve[y[x] == x*y'[X] +y'[X]"2 + Exp[y'[X]] , y[X], X]

{{y[x] »e“™ +xC[1] +C[1]%}}

Plot [Evaluate[Table[y[x] /. sol /. {C[1] » 1 /k}, {k, -5, 5, 2}]], {x, 1, 5}]

a4l



2 | Wolfram Mathematica - DJ u implicitnom obliku.nb

(xCrtanje resenja u parametarskom oblikux)
ParametricPlot[{Log[t], t+1}, {t, 1, 5}]
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ParametricPlot[{3/ (1-t)"2-1,3%t"2/ (1-1t)~2}, {t, 2, 5}]
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